ORAN - ORANTI

+ a=2b=3c=6k 4.
a=6k, b=3k, c=2k
* a+b-c=35
6k + 3k —2k = 35
7k = 35
k=5 olur.
= a+b+c=6k+3k+2k=11k=55 olur.
Cevap: D
§-8-§-2
af.£ _ 53 =
B.£.d -
%=8 olur. >§
Cevap:D';?o
a/ 2x=3y = 2ax = 3ay
2/ dy=az = 8y =2a.z
= x=3ak
y = 2ak
+ z=8k
5ak + 8k (kuiguk olmasi icin
= 5a+8=43 k=1olur)
5a =35
a = 7'dir.
Cevap: D
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U
x|—=

+

Mx+y+2z)=37k = 111.9=37k

1_2 1_2a
ax ~ 13 = X =13
1_2 1_2b
by ~ 13 = y ~ 13
1_2 1_2c
cz 13 = z =13
1,1 _2a_ 2b_ 2c _ 2
tytz=931t73 793 =13
= %.26 =4 olur.
xyz = 9k
yzx = 16k
zxy = 12k

27 =k

= zxy =12k =12.27 =324 olur.

a+b a+c _ b+c_k

a—-2c b-c

4c

at+b+a+c+b+c

a—2c+b—-c+4c

=k

=k =

2(a+b+c)
a+b+c
b+c _
= T—Z
b+c=8c ve b=7c
O halde 2 = 7€ =7 olur.

(a+b+c)

k

Cevap: C

Cevap: D

2

Cevap: D




3b+d+4f 6

ORAN - ORANTI

9a+3c+12e

_25_5
3b+d+af — o6 =2 ol

_..
I

=

o
@
c
=1

(k+1).(k+2).(k+3)=24
k=1 olur
e

b+d+f _ 4,
brd+f— 1dr

=1 = a=b, c=d, e=f olur.

Cevap: A

Cevap: B

Tasart Egitim Yaym[am

Cevap: C
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a_c_e_10
0. b=4=7=3
B8 _ -3 _e_10
3b ™ -3d " f 3
3a—3c+e _ 10
3b—-3d+f 3
20 _ 10
3—3d=T = 3-3d =6
-3d =3
d=-1
Cevap: B
1. (xy):(y.2):(x2)=3:4:6
x.y =3k
y.z=4k olur.
X.z = 6k
Yz _ 4k z_4
Xy 3 — X773
X.y_37k l_l
Xz 6k T z-2
zy_41_4,_8
O halde XZz=33=32=7 olr
Cevap: B
x __ Y __z _
12. 5aib~3a-2c - 2c-b X
X+y+z _ ~
= Pa+P+3a-2£+26—8 =k olur. (x+y+z=10)

X o
5a+b = k oldugundan
2a)§rb:% = x=% olur.

Cevap: D




